

INTUITIONISTIC FUZZY THEORY OF
IDEALS IN GAMMA-NEAR-RINGS

Y.U. Cho¹ §, M.A. Öztürk², Y.B. Jun³

¹Department of Mathematical Education

College of Education

Silla University

Pusan, 617-736, KOREA

e-mail: yucho@silla.ac.kr

²Department of Mathematics

Faculty of Arts and Science

Cumhuriyet University

Sivas, 58140, TURKEY

e-mail: maozturk@bim.cumhuriyet.edu.tr

³Department of Mathematical Education

Gyeongsang National University

Chinju, 660-701, KOREA

e-mail: ybjun@gsnu.ac.kr

Abstract: We introduce the notion of intuitionistic fuzzy ideals in Γ -near-rings, and then some basic properties are investigated. Characterizations of intuitionistic fuzzy ideals are given. Using a collection of ideals, an intuitionistic fuzzy ideal is established. The notion of equivalence relations on the family of all intuitionistic fuzzy ideals of a Γ -near-ring are discussed.

AMS Subject Classification: 16Y30, 16Y99, 03E72, 03F55

Key Words: Γ -near-ring, intuitionistic fuzzy ideal

1. Introduction

Γ -near-rings were defined by Satyanarayana [5], and the ideal theory in Γ -near-

rings was studied by Satyanarayana [5] and Booth [3]. Jun et al [4] discussed the fuzzification of ideals in Γ -near-rings. The idea of “intuitionistic fuzzy set” was first published by Atanassov [1, 2], as a generalization of the notion of fuzzy set. In this paper, using the Atanassov’s idea, we establish the intuitionistic fuzzification of the concept of ideals in Γ -near-rings, and investigate some of their properties. We introduce the notion of equivalence relations on the family of all intuitionistic fuzzy ideals of a Γ -near-ring and investigate some related properties.

2. Preliminaries

We first recall some basic concepts for the sake of completeness. A non-empty set R with two binary operations “+”(addition) and “ \cdot ” (multiplication) is called a *near-ring* if it satisfies the following axioms:

- $(R, +)$ is a group,
- (R, \cdot) is a semigroup,
- $(x + y) \cdot z = x \cdot z + y \cdot z$ for all $x, y, z \in R$.

Precisely speaking, it is a right near-ring because it satisfies the right distributive law. We will use the word “near-ring” to mean “right near-ring”. We denote xy instead of $x \cdot y$.

A Γ -*near-ring* is a triple $(M, +, \Gamma)$, where:

- $(M, +)$ is a group,
- Γ is a nonempty set of binary operators on M such that for each $\alpha \in \Gamma$, $(M, +, \alpha)$ is a near-ring,
- $x\alpha(y\beta z) = (x\alpha y)\beta z$, for all $x, y, z \in M$ and $\alpha, \beta \in \Gamma$.

A nonempty subset J of a Γ -near-ring M is called an *ideal* of M if it satisfies:

(I1) $(J, +)$ is a normal divisor of $(M, +)$, that is,

- $x - y \in J, \quad \forall x, y \in J,$
- $y + x - y \in J, \quad \forall x \in J, \quad \forall y \in M.$

(I2) $u\alpha(x + v) - u\alpha v \in J, \quad \forall x \in J, \quad \forall \alpha \in \Gamma, \quad \forall u, v \in M.$

We now review some fuzzy logic concepts. A fuzzy set in a set M is a function $\mu : M \rightarrow [0, 1]$. We shall use the notation $U(\mu; t)$ (resp. $L(\mu; t)$),

called a *upper* (resp. *lower*) *level subset* of μ , for $\{x \in M \mid \mu(x) \geq t\}$ (resp. $\{x \in M \mid \mu(x) \leq t\}$), where $t \in [0, 1]$.

A fuzzy set μ in a Γ -near-ring M is called a *fuzzy ideal* of M (see [4]) if it satisfies:

(F1) μ is a fuzzy normal divisor with respect to the addition, that is,

- $\mu(x - y) \geq \min\{\mu(x), \mu(y)\}, \quad \forall x, y \in M.$
- $\mu(y + x - y) \geq \mu(x), \quad \forall x, y \in M.$

(F2) $\mu(u\alpha(x + v) - u\alpha v) \geq \mu(x), \quad \forall x, u, v \in M, \quad \forall \alpha \in \Gamma.$

Let X be a non-empty fixed set. An *intuitionistic fuzzy set* (IFS for short) A is an object having the form

$$A = \{(x, \mu_A(x), \gamma_A(x)) : x \in X\},$$

where the functions $\mu_A : X \rightarrow [0, 1]$ and $\gamma_A : X \rightarrow [0, 1]$ denote the degree of membership (namely $\mu_A(x)$) and the degree of nonmembership (namely $\gamma_A(x)$) of each element $x \in X$ to the set A , respectively, and $0 \leq \mu_A(x) + \gamma_A(x) \leq 1$ for all $x \in X$ (see Atanassov [1, 2]).

For the sake of simplicity, we shall use the symbol $A = (\mu_A, \gamma_A)$ for the IFS $A = \{(x, \mu_A(x), \gamma_A(x)) : x \in X\}$.

3. Intuitionistic Fuzzy Ideals

In what follows, let M denotes a Γ -near-ring unless otherwise specified.

Definition 3.1. An IFS $A = (\mu_A, \gamma_A)$ in M is called an *intuitionistic fuzzy ideal* of M if

(IF1) $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy normal divisor with respect to the addition,

(IF2) $\mu_A(u\alpha(x + v) - u\alpha v) \geq \mu_A(x)$ and $\gamma_A(u\alpha(x + v) - u\alpha v) \leq \gamma_A(x)$ for all $x, u, v \in M$ and $\alpha \in \Gamma$.

The condition (IF1) means that $A = (\mu_A, \gamma_A)$ satisfies:

- $\mu_A(x - y) \geq \min\{\mu_A(x), \mu_A(y)\}$ and $\mu_A(y + x - y) \geq \mu_A(x),$
- $\gamma_A(x - y) \leq \max\{\gamma_A(x), \gamma_A(y)\}$ and $\gamma_A(y + x - y) \leq \gamma_A(x),$

for all $x, y \in M$.

Note that if $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M , then

$$\mu_A(0) \geq \mu_A(x) = \mu_A(-x) \quad \text{and} \quad \gamma_A(0) \leq \gamma_A(x) = \gamma_A(-x)$$

for all $x \in M$, where 0 is the zero element of M .

Theorem 3.2. *If $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M , then the sets*

$$M_{\mu_A} := \{x \in M \mid \mu_A(x) = \mu_A(0)\} \quad \text{and} \quad M_{\gamma_A} := \{x \in M \mid \gamma_A(x) = \gamma_A(0)\}$$

are ideals of M .

Proof. Assume that $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M and let $x, y \in M_{\mu_A} \cap M_{\gamma_A}$. Then

$$\mu_A(x - y) \geq \min\{\mu_A(x), \mu_A(y)\} = \mu_A(0),$$

$$\gamma_A(x - y) \leq \max\{\gamma_A(x), \gamma_A(y)\} = \gamma_A(0),$$

and so $\mu_A(x - y) = \mu_A(0)$ and $\gamma_A(x - y) = \gamma_A(0)$. Hence $x - y \in M_{\mu_A} \cap M_{\gamma_A}$. For every $y \in M$ and $x \in M_{\mu_A} \cap M_{\gamma_A}$, we have

$$\mu_A(y + x - y) \geq \mu_A(x) = \mu_A(0) \quad \text{and} \quad \gamma_A(y + x - y) \leq \gamma_A(x) = \gamma_A(0).$$

It follows that $\mu_A(y + x - y) = \mu_A(0)$ and $\gamma_A(y + x - y) = \gamma_A(0)$, that is, $y + x - y \in M_{\mu_A} \cap M_{\gamma_A}$. Thus M_{μ_A} and M_{γ_A} are normal divisors of M with respect to the addition. Let $x \in M_{\mu_A} \cap M_{\gamma_A}$, $\alpha \in \Gamma$ and $u, v \in M$. Then

$$\mu_A(u\alpha(x + v) - u\alpha v) \geq \mu_A(x) = \mu_A(0),$$

$$\gamma_A(u\alpha(x + v) - u\alpha v) \leq \gamma_A(x) = \gamma_A(0),$$

and thus $\mu_A(u\alpha(x + v) - u\alpha v) = \mu_A(0)$ and $\gamma_A(u\alpha(x + v) - u\alpha v) = \gamma_A(0)$. Therefore $u\alpha(x + v) - u\alpha v \in M_{\mu_A} \cap M_{\gamma_A}$, and consequently M_{μ_A} and M_{γ_A} are ideals of M . \square

Theorem 3.3. *Let J be an ideal of M and let $A = (\mu_A, \gamma_A)$ be an IFS in M defined by*

$$\mu_A(x) := \begin{cases} t_0 & \text{if } x \in J, \\ t_1 & \text{otherwise,} \end{cases} \quad \gamma_A(x) := \begin{cases} s_0 & \text{if } x \in J, \\ s_1 & \text{otherwise,} \end{cases}$$

for all $x \in M$ and $s_i, t_i \in [0, 1]$ such that $t_0 > t_1$, $s_0 < s_1$ and $s_i + t_i \leq 1$ for $i = 0, 1$. Then $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M , and $U(\mu_A; t_0) = J = L(\gamma_A; s_0)$.

Proof. Let $x, y \in M$. If $x, y \in J$, then $x - y \in J$ and so

$$\begin{aligned} \mu_A(x - y) &= t_0 = \min\{\mu_A(x), \mu_A(y)\}, \\ \gamma_A(x - y) &= s_0 = \max\{\gamma_A(x), \gamma_A(y)\}. \end{aligned}$$

If any one of x and y does not belong to J , then

$$\begin{aligned} \mu_A(x - y) &\geq t_1 = \min\{\mu_A(x), \mu_A(y)\}, \\ \gamma_A(x - y) &\leq s_1 = \max\{\gamma_A(x), \gamma_A(y)\}. \end{aligned}$$

If $x \notin J$, then

$$\mu_A(y + x - y) \geq t_1 = \mu_A(x), \quad \gamma_A(y + x - y) \leq s_1 = \gamma_A(x).$$

If $x \in J$, then $y + x - y \in J$ and thus

$$\mu_A(y + x - y) = t_0 = \mu_A(x), \quad \gamma_A(y + x - y) = s_0 = \gamma_A(x).$$

Let $x, u, v \in M$ and $\alpha \in \Gamma$. If $x \notin J$, then

$$\mu_A(u\alpha(x + v) - u\alpha v) \geq t_1 = \mu_A(x), \quad \gamma_A(u\alpha(x + v) - u\alpha v) \leq s_1 = \gamma_A(x).$$

Assume that $x \in J$. Then $u\alpha(x + v) - u\alpha v \in J$ by (I2). Hence

$$\mu_A(u\alpha(x + v) - u\alpha v) = t_0 = \mu_A(x), \quad \gamma_A(u\alpha(x + v) - u\alpha v) = s_0 = \gamma_A(x).$$

Therefore $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M . Obviously, $U(\mu_A; t_0) = J = L(\gamma_A; s_0)$. \square

Corollary 3.4. *Any ideal of M can be realized as both an upper level ideal and a lower level ideal of some intuitionistic fuzzy ideal of M .*

Proof. The proof is straightforward. \square

Theorem 3.5. *If an IFS $A = (\mu_A, \gamma_A)$ in M is an intuitionistic fuzzy ideal of M , then the nonempty upper and lower level sets $U(\mu_A; t)$ and $L(\gamma_A, t)$ of A are ideals of M for every $t \in [0, 1]$.*

Proof. Assume that $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M and let $t \in [0, 1]$ be such that $U(\mu_A; t) \neq \emptyset$ and $L(\gamma_A, t) \neq \emptyset$. Let $x, y \in U(\mu_A; t) \cap L(\gamma_A; t)$. Then

$$\mu_A(x - y) \geq \min\{\mu_A(x), \mu_A(y)\} \geq t,$$

$$\gamma_A(x - y) \leq \max\{\gamma_A(x), \gamma_A(y)\} \leq t,$$

and thus $x - y \in U(\mu_A; t) \cap L(\gamma_A; t)$. Now let $x \in U(\mu_A; t) \cap L(\gamma_A; t)$ and $y \in M$. Then $\mu_A(x) \geq t$, $\gamma_A(x) \geq t$, and so

$$\mu_A(y + x - y) \geq \mu_A(x) \geq t, \quad \gamma_A(y + x - y) \leq \gamma_A(x) \leq t.$$

Hence $y + x - y \in U(\mu_A; t) \cap L(\gamma_A; t)$.

Finally, let $x \in U(\mu_A; t) \cap L(\gamma_A; t)$, $\alpha \in \Gamma$, and $u, v \in M$. Using (IF2), we get

$$\begin{aligned} \mu_A(u\alpha(x + v) - u\alpha v) &\geq \mu_A(x) \geq t, \\ \gamma_A(u\alpha(x + v) - u\alpha v) &\leq \gamma_A(x) \leq t, \end{aligned}$$

which imply that $u\alpha(x + v) - u\alpha v \in U(\mu_A; t) \cap L(\gamma_A; t)$. Therefore $U(\mu_A; t)$ and $L(\gamma_A; t)$ are ideals of M . \square

We consider the converse of Theorem 3.5.

Theorem 3.6. *Let $A = (\mu_A, \gamma_A)$ be an IFS in M such that the nonempty upper and lower level sets $U(\mu_A; t)$ and $L(\gamma_A; t)$ of A are ideals of M for every $t \in [0, 1]$. Then $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M .*

Proof. Let $t \in [0, 1]$ and suppose that $U(\mu_A; t) (\neq \emptyset)$ and $L(\gamma_A; t) (\neq \emptyset)$ are ideals of M . Assume that there are $x_0, y_0 \in M$ such that

$$\begin{aligned} \mu_A(x_0 - y_0) &< \min\{\mu_A(x_0), \mu_A(y_0)\}, \\ \gamma_A(x_0 - y_0) &> \max\{\gamma_A(x_0), \gamma_A(y_0)\}. \end{aligned}$$

Taking

$$\begin{aligned} p_0 &:= \frac{1}{2} \left(\mu_A(x_0 - y_0) + \min\{\mu_A(x_0), \mu_A(y_0)\} \right), \\ q_0 &:= \frac{1}{2} \left(\gamma_A(x_0 - y_0) + \max\{\gamma_A(x_0), \gamma_A(y_0)\} \right), \end{aligned}$$

then

$$\begin{aligned} \mu_A(x_0 - y_0) &< p_0 < \min\{\mu_A(x_0), \mu_A(y_0)\}, \\ \gamma_A(x_0 - y_0) &> q_0 > \max\{\gamma_A(x_0), \gamma_A(y_0)\}. \end{aligned}$$

It follows that $x_0, y_0 \in U(\mu_A; p_0) \cap L(\gamma_A; q_0)$, but

$$x_0 - y_0 \notin U(\mu_A; p_0) \cap L(\gamma_A; q_0).$$

This is impossible, and so

$$\mu_A(x - y) \geq \min\{\mu_A(x), \mu_A(y)\}, \quad \gamma_A(x - y) \leq \max\{\gamma_A(x), \gamma_A(y)\},$$

$$\forall x, y \in M.$$

If there are $x_1, y_1 \in M$ such that

$$\mu_A(y_1 + x_1 - y_1) < \mu_A(x_1), \quad \gamma_A(y_1 + x_1 - y_1) > \gamma_A(x_1),$$

then by taking

$$p_1 := \frac{1}{2} \left(\mu_A(y_1 + x_1 - y_1) + \mu_A(x_1) \right),$$

$$q_1 := \frac{1}{2} \left(\gamma_A(y_1 + x_1 - y_1) + \gamma_A(x_1) \right)$$

we have

$$\mu_A(y_1 + x_1 - y_1) < p_1 < \mu_A(x_1), \quad \gamma_A(y_1 + x_1 - y_1) > q_1 > \gamma_A(x_1).$$

Hence $x_1 \in U(\mu_A; p_1) \cap L(\gamma_A; q_1)$ and $y_1 + x_1 - y_1 \notin U(\mu_A; p_1) \cap L(\gamma_A; q_1)$. This is a contradiction, so

$$\mu_A(y + x - y) \geq \mu_A(x), \quad \gamma_A(y + x - y) \leq \gamma_A(x), \quad \forall x, y \in M.$$

Finally, we show that $A = (\mu_A, \gamma_A)$ satisfies (IF2). If not, then there exist $x_2, u_2, v_2 \in M$ and $\beta \in \Gamma$ such that

$$\mu_A(u_2\beta(x_2 + v_2) - u_2\beta v_2) < \mu_A(x_2), \quad \gamma_A(u_2\beta(x_2 + v_2) - u_2\beta v_2) > \gamma_A(x_2).$$

Putting

$$p_2 := \frac{1}{2} \left(\mu_A(u_2\beta(x_2 + v_2) - u_2\beta v_2) + \mu_A(x_2) \right),$$

$$q_2 := \frac{1}{2} \left(\gamma_A(u_2\beta(x_2 + v_2) - u_2\beta v_2) + \gamma_A(x_2) \right),$$

we have

$$\mu_A(u_2\beta(x_2 + v_2) - u_2\beta v_2) < p_2 < \mu_A(x_2),$$

$$\gamma_A(u_2\beta(x_2 + v_2) - u_2\beta v_2) > q_2 > \gamma_A(x_2),$$

and thus $x_2 \in U(\mu_A; p_2) \cap L(\gamma_A; q_2)$ and

$$u_2\beta(x_2 + v_2) - u_2\beta v_2 \notin U(\mu_A; p_2) \cap L(\gamma_A; q_2).$$

This is impossible, and the proof is complete. \square

Theorem 3.7. *If an IFS $A = (\mu_A, \gamma_A)$ in M is an intuitionistic fuzzy ideal of M , then so is $\mathbb{A} := \{(x, \mu_A(x), 1 - \mu_A(x)) \mid x \in M\}$.*

Proof. It is sufficient to show that $\bar{\mu}_A$ satisfies the second conditions of (IF1) and (IF2). For any $x, y \in M$, we have

$$\begin{aligned} \bar{\mu}_A(x - y) &= 1 - \mu_A(x - y) \leq 1 - \min\{\mu_A(x), \mu_A(y)\} \\ &= \max\{1 - \mu_A(x), 1 - \mu_A(y)\} \\ &= \max\{\bar{\mu}_A(x), \bar{\mu}_A(y)\}, \end{aligned}$$

$$\bar{\mu}_A(y + x - y) = 1 - \mu_A(y + x - y) \leq 1 - \mu_A(x) = \bar{\mu}_A(x).$$

Let $x, u, v \in M$ and $\alpha \in \Gamma$. Then

$$\begin{aligned} \bar{\mu}_A(u\alpha(x + v) - u\alpha v) \\ = 1 - \mu_A(u\alpha(x + v) - u\alpha v) \leq 1 - \mu_A(x) = \bar{\mu}_A(x). \end{aligned}$$

Hence \mathbb{A} is an intuitionistic fuzzy ideal of M . \square

Theorem 3.8. *Let $\{J_t \mid t \in \Lambda \subseteq [0, 1]\}$ be a collection of ideals of M such that*

$$(i) \quad M = \cup_{t \in \Lambda} J_t,$$

$$(ii) \quad \text{For every } s, t \in \Lambda, s > t \text{ if and only if } J_s \subsetneq J_t.$$

Define an IFS $A = (\mu_A, \gamma_A)$ in M by

$$\mu_A(x) := \sup\{t \in \Lambda \mid x \in J_t\}, \quad \gamma_A(x) := \inf\{t \in \Lambda \mid x \in J_t\}, \quad \forall x \in M.$$

Then $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M .

Proof. According to Theorem 3.6 it is sufficient to show that the nonempty upper and lower level sets $U(\mu_A; t)$ and $L(\gamma_A; l)$ of $A = (\mu_A, \gamma_A)$ are ideals of M for every $t, l \in [0, 1]$. In order to show that $U(\mu_A; t)$ is an ideal of M , we consider the following two cases:

$$(1^\circ) \quad t = \sup\{s \in \Lambda \mid s < t\},$$

$$(2^\circ) \quad t \neq \sup\{s \in \Lambda \mid s < t\}.$$

For the case (1°) we get

$$x \in U(\mu_A; t) \Leftrightarrow x \in J_s \quad \forall s < t \Leftrightarrow x \in \bigcap_{s < t} J_s,$$

and so $U(\mu_A; t) = \bigcap_{s < t} J_s$, which is an ideal of M . Case (2°) implies that $U(\mu_A; t) = \bigcup_{s \geq t} J_s$, which is an ideal of M . In fact, if $x \in \bigcup_{s \geq t} J_s$ then $x \in J_s$ for some $s \geq t$. It follows that $\mu_A(x) \geq s \geq t$ so that $x \in U(\mu_A; t)$. Conversely, assume that $x \notin \bigcup_{s \geq t} J_s$. Then $x \notin J_s$ for all $s \geq t$. Since $t \neq \sup\{s \in \Lambda \mid s < t\}$, there exists $\varepsilon > 0$ such that $(t - \varepsilon, t) \cap \Lambda = \emptyset$. Hence $x \notin J_s$ for all $s > t - \varepsilon$, which means that if $x \in J_s$ then $s \leq t - \varepsilon$. Thus $\mu_A(x) \leq t - \varepsilon < t$, and so $x \notin U(\mu_A; t)$. Now we prove that $L(\gamma_A; l)$ is an ideal of M . We consider the following two cases:

$$(3^\circ) \quad l = \inf\{m \in \Lambda \mid l < m\},$$

$$(4^\circ) \quad l \neq \inf\{m \in \Lambda \mid l < m\}.$$

Case (3°) implies that

$$x \in L(\gamma_A; l) \Leftrightarrow x \in J_m \quad \forall m > l \Leftrightarrow x \in \bigcap_{m > l} J_m.$$

This shows that $L(\gamma_A; l)$ is an ideal of M .

Case (4°) implies that there exists $\varepsilon > 0$ such that $(l, l + \varepsilon) \cap \Lambda = \emptyset$. If $x \in \bigcup_{l \geq m} J_m$, then $x \in J_m$ for some $m \leq l$. It follows that $\gamma_A(x) \leq m \leq l$ so that $x \in L(\gamma_A; l)$. Hence $\bigcup_{l \geq m} J_m \subseteq L(\gamma_A; l)$. Now if $x \notin \bigcup_{l \geq m} J_m$, then $x \notin J_m$ for all $m \leq l$ which implies that $x \notin J_m$ for all $m < l + \varepsilon$, that is, if $x \in J_m$ then $m \geq l + \varepsilon$. Thus $\gamma_A(x) \geq l + \varepsilon > l$, that is, $x \notin L(\gamma_A; l)$. Therefore $L(\gamma_A; l) \subseteq \bigcup_{l \geq m} J_m$. This completes the proof. \square

Theorem 3.9. *An IFS $A = (\mu_A, \gamma_A)$ is an intuitionistic fuzzy ideal of M if and only if μ_A and $\bar{\gamma}_A$ are fuzzy ideals of M .*

Proof. Let $A = (\mu_A, \gamma_A)$ be an intuitionistic fuzzy ideal of M . Then obviously μ_A is a fuzzy ideal of M . Let $x, y \in M$. Then

$$\begin{aligned} \bar{\gamma}_A(x - y) &= 1 - \gamma_A(x - y) \geq 1 - \max\{\gamma_A(x), \gamma_A(y)\} \\ &= \min\{1 - \gamma_A(x), 1 - \gamma_A(y)\} \\ &= \min\{\bar{\gamma}_A(x), \bar{\gamma}_A(y)\}, \end{aligned}$$

$$\bar{\gamma}_A(y + x - y) = 1 - \gamma_A(y + x - y) \geq 1 - \gamma_A(x) = \bar{\gamma}_A(x).$$

Hence $\bar{\gamma}_A$ is a fuzzy normal divisor with respect to the addition. Let $x, u, v \in M$ and $\alpha \in \Gamma$. Then

$$\begin{aligned} \bar{\gamma}_A(u\alpha(x + v) - u\alpha v) &= 1 - \gamma_A(u\alpha(x + v) - u\alpha v) \\ &\geq 1 - \gamma_A(x) = \bar{\gamma}_A(x). \end{aligned}$$

Therefore $\bar{\gamma}_A$ is a fuzzy ideal of M . Conversely, suppose that μ_A and $\bar{\gamma}_A$ are fuzzy ideals of M . Let $x, y \in M$. Then

$$\begin{aligned} 1 - \gamma_A(x - y) &= \bar{\gamma}_A(x - y) \\ &\geq \min\{\bar{\gamma}_A(x), \bar{\gamma}_A(y)\} \\ &= \min\{1 - \gamma_A(x), 1 - \gamma_A(y)\} \\ &= 1 - \max\{\gamma_A(x), \gamma_A(y)\}, \end{aligned}$$

$$1 - \gamma_A(y + x - y) = \bar{\gamma}_A(y + x - y) \geq \bar{\gamma}_A(x) = 1 - \gamma_A(x),$$

which imply that $\gamma_A(x - y) \leq \max\{\gamma_A(x), \gamma_A(y)\}$ and $\gamma_A(y + x - y) \leq \gamma_A(x)$. Finally, for any $x, u, v \in M$ and $\alpha \in \Gamma$ we get

$$\begin{aligned} 1 - \gamma_A(u\alpha(x + v) - u\alpha v) &= \bar{\gamma}_A(u\alpha(x + v) - u\alpha v) \\ &\geq \bar{\gamma}(x) = 1 - \gamma_A(x), \end{aligned}$$

and hence $\gamma_A(u\alpha(x + v) - u\alpha v) \leq \gamma_A(x)$. This completes the proof. \square

Let $\mathbb{F}(M)$ denote the family of all intuitionistic fuzzy ideals of M and let $t \in [0, 1]$. Define binary relations \sim_μ and \sim_γ on $\mathbb{F}(M)$ as follows:

$$A \sim_\mu B \Leftrightarrow U(\mu_A; t) = U(\mu_B; t),$$

$$A \sim_\gamma B \Leftrightarrow L(\gamma_A; t) = L(\gamma_B; t),$$

respectively, for $A = (\mu_A, \gamma_A)$ and $B = (\mu_B, \gamma_B)$ in $\mathbb{F}(M)$. Then clearly \sim_μ and \sim_γ are equivalence relations on $\mathbb{F}(M)$. For any $A = (\mu_A, \gamma_A) \in \mathbb{F}(M)$, let $[A]_\mu$ (resp. $[A]_\gamma$) denote the equivalence class of A modulo \sim_μ (resp. \sim_γ), and denote by $\mathbb{F}(M)/\sim_\mu$ (resp. $\mathbb{F}(M)/\sim_\gamma$) the collection of all equivalence classes of A modulo \sim_μ (resp. \sim_γ), that is,

$$\mathbb{F}(M)/\sim_\mu := \{[A]_\mu \mid A = (\mu_A, \gamma_A) \in \mathbb{F}(M)\}$$

$$\text{(resp. } \mathbb{F}(M)/\sim_\gamma := \{[A]_\gamma \mid A = (\mu_A, \gamma_A) \in \mathbb{F}(M)\} \text{)}.$$

Now let $\mathbb{I}(M)$ denote the family of all ideals of M and let $t \in [0, 1]$. Define maps f_t and g_t from $\mathbb{F}(M)$ to $\mathbb{I}(M) \cup \{\emptyset\}$ by

$$f_t(A) = U(\mu_A; t) \quad \text{and} \quad g_t(A) = L(\gamma_A; t),$$

respectively, for all $A = (\mu_A, \gamma_A) \in \mathbb{F}(M)$. Then f_t and g_t are clearly well-defined.

Theorem 3.10. *For any $t \in (0, 1)$, the maps f_t and g_t are surjective from $\mathbb{F}(M)$ to $\mathbb{I}(M) \cup \{\emptyset\}$. Moreover the quotient sets $\mathbb{F}(M)/\sim_\mu$ and $\mathbb{F}(M)/\sim_\gamma$ are equipotent to $\mathbb{I}(M) \cup \{\emptyset\}$.*

Proof. Let $t \in (0, 1)$. Note that $\mathbf{0}_\sim = (\mathbf{0}, \mathbf{1})$ is in $\mathbb{F}(M)$, where $\mathbf{0}$ and $\mathbf{1}$ are fuzzy sets in M defined by $\mathbf{0}(x) = 0$ and $\mathbf{1}(x) = 1$ for all $x \in M$. Obviously

$$f_t(\mathbf{0}_\sim) = U(\mathbf{0}; t) = \emptyset = L(\mathbf{1}; t) = g_t(\mathbf{0}_\sim).$$

Let $J(\neq \emptyset) \in \mathbb{I}(M)$. For $J_\sim = (\chi_J, \bar{\chi}_J) \in \mathbb{F}(M)$, we have

$$f_t(J_\sim) = U(\chi_J; t) = J = L(\bar{\chi}_J; t) = g_t(J_\sim).$$

Hence f_t and g_t are surjective. Let f_t^* (resp. g_t^*) be a map from $\mathbb{F}(M)/\sim_\mu$ (resp. $\mathbb{F}(M)/\sim_\gamma$) to $\mathbb{I}(M) \cup \{\emptyset\}$ defined by $f_t^*([A]_\mu) = f_t(A)$ (resp. $g_t^*([A]_\gamma) = g_t(A)$) for all $A = (\mu_A, \gamma_A) \in \mathbb{F}(M)$. Assume that $U(\mu_A; t) = U(\mu_B; t)$ and $L(\gamma_A; t) = L(\gamma_B; t)$ for $A = (\mu_A, \gamma_A)$ and $B = (\mu_B, \gamma_B)$ in $\mathbb{F}(M)$. Then $A \sim_\mu B$ and $A \sim_\gamma B$, and hence $[A]_\mu = [B]_\mu$ and $[A]_\gamma = [B]_\gamma$. Therefore the maps f_t^* and g_t^* are injective. Now let $J(\neq \emptyset) \in \mathbb{I}(M)$. For $J_\sim = (\chi_J, \bar{\chi}_J) \in \mathbb{F}(M)$, we have

$$f_t^*([J_\sim]_\mu) = f_t(J_\sim) = U(\chi_J; t) = J = L(\bar{\chi}_J; t) = g_t(J_\sim) = g_t^*([J_\sim]_\gamma).$$

Finally, for $\mathbf{0}_\sim = (\mathbf{0}, \mathbf{1}) \in \mathbb{F}(M)$, we get

$$f_t^*([\mathbf{0}_\sim]_\mu) = f_t(\mathbf{0}_\sim) = U(\mathbf{0}; t) = \emptyset = L(\mathbf{1}; t) = g_t(\mathbf{0}_\sim) = g_t^*([\mathbf{0}_\sim]_\gamma).$$

This shows that f_t^* and g_t^* are surjective, and we are done. □

For any $t \in [0, 1]$ we define another relation \mathfrak{R}^t on $\mathbb{F}(M)$ as follows:

$$(A, B) \in \mathfrak{R}^t \Leftrightarrow U(\mu_A; t) \cap L(\gamma_A; t) = U(\mu_B; t) \cap L(\gamma_B; t),$$

for all $A = (\mu_A, \gamma_A), B = (\mu_B, \gamma_B) \in \mathbb{F}(M)$. It is easily seen that \mathfrak{R}^t is an equivalence relation on $\mathbb{F}(M)$.

Theorem 3.11. *For any $t \in (0, 1)$, the map $\Phi_t : \mathbb{F}(M) \rightarrow \mathbb{I}(M) \cup \{\emptyset\}$ defined by $\Phi_t(A) = f_t(A) \cap g_t(A)$ for all $A = (\mu_A, \gamma_A) \in \mathbb{F}(M)$ is injective. Furthermore, the quotient set $\mathbb{F}(M)/\mathfrak{R}^t$ is equipotent to $\mathbb{I}(M) \cup \{\emptyset\}$.*

Proof. Let $t \in (0, 1)$. For $\mathbf{0}_\sim = (\mathbf{0}, \mathbf{1}) \in \mathbb{F}(M)$, we obtain

$$\Phi_t(\mathbf{0}_\sim) = f_t(\mathbf{0}_\sim) \cap g_t(\mathbf{0}_\sim) = U(\mathbf{0}; t) \cap L(\mathbf{1}; t) = \emptyset.$$

For any $J \in \mathbb{I}(M)$, there exists $J_\sim = (\chi_J, \bar{\chi}_J) \in \mathbb{F}(M)$ such that

$$\Phi_t(J_\sim) = f_t(J_\sim) \cap g_t(J_\sim) = U(\chi_J; t) \cap L(\bar{\chi}_J; t) = J.$$

Hence Φ is surjective. Define a map $\Phi_t^* : \mathbb{F}(M)/\mathfrak{A}^t \rightarrow \mathbb{I}(M) \cup \{\emptyset\}$ by $\Phi_t^*([A]_{\mathfrak{A}^t}) = \Phi_t(A)$ for all $[A]_{\mathfrak{A}^t} \in \mathbb{F}(M)/\mathfrak{A}^t$. Let $[A]_{\mathfrak{A}^t}, [B]_{\mathfrak{A}^t} \in \mathbb{F}(M)/\mathfrak{A}^t$ be such that $\Phi_t^*([A]_{\mathfrak{A}^t}) = \Phi_t^*([B]_{\mathfrak{A}^t})$. Then $f_t(A) \cap g_t(A) = f_t(B) \cap g_t(B)$, that is,

$$U(\mu_A; t) \cap L(\gamma_A; t) = U(\mu_B; t) \cap L(\gamma_B; t).$$

This implies that $(A, B) \in \mathfrak{A}^t$, and so $[A]_{\mathfrak{A}^t} = [B]_{\mathfrak{A}^t}$. Therefore Φ_t^* is injective. Now for $\mathbf{0}_{\sim} = (\mathbf{0}, \mathbf{1}) \in \mathbb{F}(M)$ we have

$$\Phi_t^*([\mathbf{0}_{\sim}]_{\mathfrak{A}^t}) = \Phi_t(\mathbf{0}_{\sim}) = f_t(\mathbf{0}_{\sim}) \cap g_t(\mathbf{0}_{\sim}) = U(\mathbf{0}; t) \cap L(\mathbf{1}; t) = \emptyset.$$

For $J_{\sim} = (\chi_J, \bar{\chi}_J) \in \mathbb{F}(M)$, we get

$$\Phi_t^*([J_{\sim}]_{\mathfrak{A}^t}) = \Phi_t(J_{\sim}) = f_t(J_{\sim}) \cap g_t(J_{\sim}) = U(\chi_J; t) \cap L(\bar{\chi}_J; t) = J.$$

Thus Φ_t^* is surjective. This completes the proof. \square

References

- [1] K. Atanassov, Intuitionistic fuzzy sets, *Fuzzy Sets and Systems*, **20**, No. 1 (1986), 87-96.
- [2] K. Atanassov, New operations defined over the intuitionistic fuzzy sets, *Fuzzy Sets and Systems*, **61** (1994), 137-142.
- [3] G.L. Booth, A note on Γ -near-rings, *Stud. Sci. Math. Hung.*, **23** (1988), 471-475.
- [4] Y.B. Jun, M. Sapançi, M.A. Öztürk, Fuzzy ideals in gamma near-rings, *Tr. J. of Mathematics*, **22** (1998), 449-459.
- [5] Bh. Satyanarayana, *Contributions to Near-Ring Theory*, Doctoral Thesis, Nagarjuna Univ. (1984).